Neme Date

;M’ Foundations for Functions

1. What is the domain and range

. The graph of & function passes through

hnwmunn the polrts (3. ~2) and (7, <5). What are the
- Di(-00,00) R:(- 03,00) coordinatss of these ponks afler the
funcson has been reflectsd across the y-
2. What are the coordinates of the ads?
vansformed point? - L)
{3. 4): hocizontal shift 1 unitleft (3 27 (7 5)
(7:"0 s.:;’ayummhm -
3. What numbers complete the table of the x3
transformed funcson? - -
Refiection across paxis 7. Graph the retationshipfrom me to
=T = number of organisms living ina petri
2 =2 e dish during the course of an
o I experiment. Identify the parent function
o 5 that best approximates the data.
2 o 4 i Organisms In Petri Dish
O0l-1w0l s Time () oj1{2]3)4
No.of 111|127 16’
4. Use = table © perform'a transiation organsms [ ] & "]
of = Ax) fight 2 unlts and up 3 units.
Graph using the same coardinate plane R
as the original funcion. linear
Ly
8. What is.the parent function? |
(x-3 ;
X3
x y x+2 y+3
9, Let )b..vuwdtrmﬂonw :F(X to
= | 2 -3 5 eui'(uxanx)-a: 4, Write the e for )
2 0 0 3 Sy
0 2 2 S q(x)=3x+2
" 1 3 4 10. ‘Lot glx) be & yartical stretch by .
‘afaciorof 4 of Ax)=3x~2. 4 f(x)
Wiite the rue for gx). 4 (3x—52>
o(x)=12x-8
)

. 15, Make a scatter plot for the data In the
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11. Wnat describes the transformation
Interms.of Ax)?
Horizontal shift right 7 units
£(x=17)
12. What describes the transformation
Intermis of fx)?
Vertical comprassion of -11—0_

L.

$(x)

13 Whatm\dofmaliondewibnh
oquntbnfmnihparmtoquﬁon?
W= verdical ,
+ranslation down Il

14. What transformation describes the
oguuuonfromlhjsarontaqthﬂo‘n?
W) verdical streteh
b\j a factor of 15 -

table below, dentify the corrslation, and

16. What is tha type of correiation shown?

Strong positive
1. m-l}.;tn:ypo&)muon‘ elation shown?

v
srsnestingees

strong neqgafive
18. Whst ls the spproximats cOmelation -
coeaficlent? .

then sketch @ line of best fit.
x|s|ej2jsia] |
y |20 |®8]1B3]7]5)]
v==l.16¥x+27.052
r**OQTQ

S+ron3 nCSQ.'h\/e C.Orre{a"('lon
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4. What is the parent function?
(x-3)+4

X
8. Lot glx) be u verical translation 1p e
S oa foowed by s efecionover 3 ({
the y-ands of flx) = Sx - 4. Write the rule 3.

forglx).
Q()="9x=2 ¥
10. Lo gix) be a horizontal compression £
byahmd%—d_f(x)-%x—z. 3(-%
Wmmmg-p(x). ' ﬁ:(i}
g = gX=2 £
11, What describes the trausformation in o
terms of i)? (
Hortzontal shit lef 6 whits L
L)
12, What desciibes the transformation ii
tamms.of f5)?
Verfical stretch of 12
12- £(x)
13. What vensformation describes the
~ equation‘from s parefit equation?
{x+3)~11 .
1oriz};s+u1+rnm\aﬁon et 3
verfical Hanslation dovin (1
14, Wnat transformation describes the
-equation from Its parent equation?

3
7™ ertical compression
. by a factor of 3/

15. Make a scatter plot of the data in the table

skeich a finé of best it and find Iis ec

Cx [ 12 5] 2] 19
Crlu i 10
K)t2
-4+2

r=0.55

= ' Stro ositive

2 nunae na gO(re(qﬁm
-X)  y=0.850x+2.420
)’1@Mumew-mmmm7_ '

5 | .
BX) ) “‘...
) =2 medium positive

17 Whatis the typéof Gomelation shown?

P

, mediufn_nea ative
18, Wit is the spproximate coffelation
coafficient?

'

Name Dete
Foundations for Functions
1

1. What ls the domain and range
bnfnparonuundbn!ou'n?

D: (-o9,00) -R: [0,99)
2. Matnmﬂumordb\;lu of the .
transformed point?

(3, 4); vertical shift 3 units up and
horizontal shift 2 units right

(5,7)

3. Wnat numbers complete the table of the

5. The graph of a function passes through
the points (9, -6) and (12,~3). Whatare
the coordinates of thess points after the
function has t 0 | 3

vertically w.w«%v
(4,-2) (12,-1)

6..Graph the data from the table.

Describe the parent function and the

transfotmation that best approximates
the data set.

transformed function? .
 Reflection across yeaxis

x -4 -2 0 1 3

- X

yl2alo]s]se|n

|
@)

|- [o|L|&ix
olalo|L ]l

4. Use a table to perform & vertical stretch

ofy=fx) by a factorof 2. Graphusing quodratic
the samé coordinate plane s the original | 7. Graph the relationship from time to
function. . number of organisms living in a petrl
d"“d.um.ﬂ“,md-_\WM .
. Use the parent functiop thal best
- approximates the data to pradict the
: 'numbet of ¢rganisms living in the dish
d athour8. ° :
~ Organlsms In Petr Dish
frmemn Joa]2]3]4
No, of
z s X 2Y Organisms | 4 s l11]12]18
=2 O\ -2 o)
T T T 2 H
\/= 28Xt

2.2() .o = 21.Y4
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